
EXERCICES MATHS CM2 – Les longueurs – Correction.    Toupty.com

Fiche n° 580

80 km = 800000 dm

25 km = 250000 dm

5 km = 50000 dm

6 m = 60 dm

67 km = 67000000 mm

92 km = 9200000 cm

71 m = 7100 cm

44 m = 440 dm

79 dam = 79000 cm

4 hm = 4000 dm

790000 m = 79000 dam

40000 dm = 400 dam

7000000 mm = 70 hm

5800000 dm = 5800 hm

820000 cm = 820 dam

54000000 m = 54000 km

85000000 dm = 8500 km

8800000 m = 88000 hm

230000 cm = 230 dam

54000000 cm = 540 km

67 m  et 56 dm = 726 dm

58 m  et 46 cm = 5846 cm

46 km  et 45 cm = 4600045 cm

78 km  et 52 mm = 78000052 mm

44 km  et 46 cm = 4400046 cm

2 dam  et 18 mm = 20018 mm

4 km  et 12 cm = 400012 cm

46 dam  et 75 dm = 4675 dm

8 dam  et 5 mm = 80005 mm

44 hm  et 33 mm = 4400033 mm

Recopie et convertis dans l'unité :

Même exercice :

Recopie et convertis dans l'unité :
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